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VALUATION OF GOODWILL

"

1. The following particulars are available in respect of the business carried on by Bankay
Ltd.: )

, i I

(a) Profits earned : 2012-13 - 50,000
- 2013-14 48,000
2014-15 : 62,000

(b) Profit for 2013-14 is reduced by ¥ 5,000 due to stock destroyed by fire and profit of
2012-13 included a non-recurring income of ¥ 4,000. :
(c) Profit for 2014-15 includes Z 2,000 income from investment.
(d) The stock is not insured and it is thought prudent to insure the stock in future. The
insurance premium is estimated at I 500 p.a. ‘
(¢) Fair remuneration to the proprietor (not taken in the calculation of profits) is
% 10,000 p.a.
You are required to compute the value of goodwill on the basis of 2 years’ purchase of
@the average profits of the last three years.

M Ltd. proposed to purchase the business carried on by N Ltd. Goodwill for this
purpose is agreed to be valued at three years’ purchase of the weighted average
profits of the past four years. The appropriate weights to be used and profits for the
years are as under :

Year Weight _ Profit

4
2011-12 1 1,01,000
¢ 2012-13 - 2 © 1,24,000
«2013-14 . 3 1,00,000

2014-15 4 1,50,000

The books of account were closed every year on 31st March. On a scrutiny of the

accounts, the following matters are revealed :

(i) On Ist December. 2013, major repairs were carried out in respect of the plant
spending < 30,000 which was charged to revenue. The said sum is agreed to be

capitalised for goodwill calculation subject to adjustment of depreciation @ 10% p-a.
on reducing balance method.

(i1) The closing stock on 31st March, 2013 was overvalued by ¥ 12,000.

(ii1)) To cover management cost, an annual charge of ¥ 24,000 should be made for the
purpose of valuation of goodwill.

Compute the value of goodwill of the business. . [ICSI, Inter.]
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1 \)Q' The average net profit (before making any adjustment for valuation of 8°°dw111“
firm was ¥ 3,02,000 including T 2,000 as income from investment. The cost of vasot
(as also its present value) was T 40,000. Probable future reduction In expendj em

< 5,000 p.a. Rate of income tax is 50 paise in the rupee. 10% represents 5 ;. -

: agt
commercial return. The average tangible capital employed was < 13,41,600, bmu'.al

I
valuations obtained, the capital employed was found to be ¥ 14,40,000. R
Assess the value of the business taking goodwill at 5 years” purchase of super Profitg
\\Wn the following information, calculate the value of goodwill by : (a) three Years'
purchase of super profits ; and (b) capitalisation method. |
(1) Average capital employed ¥ 6,00,000.
(2) Net profit for the last three years : < 1,48,000 ; ¥ 1,50,000 ; ¥ 1,49,000. '
(3) Rate of return expected 20%.
(4) Partners” salary ¥ 10,000 p-a.
(5) Net assets (excluding goodwill) T 6,50,000. ‘
Bl rom the following information, calculate the value of goodwill by : (a) Capitalisaﬁ(md
super profits method and (b) capitalisation of average profits method :
(i) Average capital employed in the business T 7,00,000.

(i) Net trading profit of the firm for the past three years : X 1,47,600 ; T 148100
< 1,52,500.

(111) Rate of return expected from capital having regard to the risk involved 18%.
(iv) Fair remuneration to the partners for their services T 12,000 per annum. |
(v) Sundry assets (excluding goodwill of the firm) T 7,54,762 : Sundry liabilities ¥ 31,32¢

|

15. Mie net profit of a business after providing for taxation, for the past five years are
< 40,000, X 43,000, X 46,000, X 52,000 and X 59,000: The capital employed in the business
X 4,00,000. The normal rate of return expected in this type of business is 10%. It i
expected that the company will be able to maintain its super profits for the nes
5 years.

. . - L]
Calculate the value of goodwill on the basis of :

(a) Five years’ purchase of super profits.

(b) Annuity method, taking the present value of an annuity of % 1 for five vears at 10
as 3:78.

Capitalisation of super profits. [ICSI, Inter. (June) ‘00 — Adapte
: -)The net profits of a company after providing for taxation for the past five years d

< 78,000, T 82,000, T 88,000, T 93,000 and T 99,000. The capital employed in the business
< 8,00,000 on which a reasonable rate of return of 10% is expected. It is expected th
the company will be able to maintain the super profits for the next five vears. |

(a) Calculate the value of goodwill of the business on the basis of an annuity of SuPi

profits, taking the present value of an annuity of one rupee for five years at 1
interest as T 3-78. - '
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